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run_13040030 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13040030 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13040030 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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[ADC RMS for RDO=1,ARM=0,APV=17 |
g 45
e
g 40
<
g 35 p—
['4
30
s B | : : et el U LU A
20
15 Y BoadHhocsannacasseacand frocacaaonacasseacaaanad fcosscacoanasoaannasasd f:ocacaaoaacaannacassaad fcasscacoanaaoaannasasd Bscacach
10
5
1
0 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=18 "}
3 45 =
&
g 40 =
) —
2 35
'3
30
25
20 f/——
15 f=—
10
5
0
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=19 |
g T
Q n
2 50 [
< -
@ —
= -
@ 40 P
30 [H
20 [
10 f-
1‘:
0%
[ADC RMS for RDO=1,ARM=0,APV=20 _}
g 70
g
9]
2 60
%]
=
x 50
40
30 [
20
10
0
APV channel
[ADC RMS for
=
2
9]
o
)
12}
=
'3

APV channel




run_13040030 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13040030 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
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run_13040030 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13040030 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
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run_13040030 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13040030 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13040030 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
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run_13040030 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Thu Feb 9 04:13:02 2012

[ADC for FGT RDO=1,ARM=4,APV=0 } [ ADC for FGT RDO=1,ARM=4,APV=0 |
4000
o o =
? g =
Q —
9 Q 3500 f=
< < =
10° 3000 f=— 0
=
2500 =
=
102 2000 ==
1500 f=— 10
1000 f=——
10 =
500 fm——
=
= -
o === 1
1 = n n n 0 n 9
1 1 1 1 1 1 1
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=1 } [ ADC for FGT RDO=1,ARM=4,APV=1 }
L - 4000 p—
3 5] = . . . . . .
2 S = :
8 8 3500 f=— == --t----- LU EEL I EEELE S ELEL 10°
%0 2 = : : : :
3000 P=—|- - p-e--- pacg|eesfpomses SRR
2500 fm—v{- == - e en EEEEE T SEP Sete-
5 = .
B 2000 fm— - - - s s O Sfefes 10
= 5
1500 = v|= s = np e s EEEE S EETY PR IR
= b
10 1000 p=——====7==""" pocggeeafpeeana 2q2°° pe=e
= 2 2 2 2 2 2
500 f=— ERS PR EPTRT e 1
o .
0 =3 Bl
= . i . N i . . i . i . . . i . . . i .
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=4APV=2 } [ ADC for FGT RDO=1,ARM=4,APV=2 }
4000
Y o — Sooooo SSoocoo Soooos o =
%) 0 0 I e o L O e O e e e (A R D A
8 : : g  Fg
< o o . < =
10° k- - 30005—" b B i i A A e il il il e piilh Ak il il Sl i e il b B Bl 102
=
2500 fE— - {- - F ok m e p e el TR BF B R
=
2000 [ - - Syeres
10 - I
=
1500 £ 0
WD |Z5=9floi|=ofolpo=degeq oo eoooeo=o 0o pgeqpocacacddbeoag|pf/scecacasacsoscacsdhqpossacsonsanscpebossagbgeeans peegpylegiefee
10f- =
V) = S B X R S EE R B B R R PRy (et AP PP PR 3 S P B e R R R o PEPPPPPEEETEE- PEPPEPE AP PREE Locdkilllakas
=
oH -
1 H 1
I
1000 2000 3000 4000 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=3 } [ ADC for FGT RDO=1,ARM=4,APV=3 |
o = 4000 p
3 5]
[ 5o
é é 3500
0 2
3000 10
2500 f=
10¢ 2000
1500 10
10 1000
500
0 1
0 1000 2000 3000 4000
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=4 } [ ADC for FGT RDO=1,ARM=4,APV=4 "}
L .- 4000 p—
3 ] =
[ & =
%) %) =—scoo
% 9 3500 =
= =
3000 f=—----
2500 f=— - - - - 10
2 =
ao 2000 fm— - - - -
=
1500 f=——- - - -
=
10 1000 p=—--- - a
=
500 fm—--- -
=
o=
= 10°
0 1000 2000 3000 4000 0

raw ADC APV channel
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run_13040030 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Thu Feb 9 04:14:33 2012

[ADC for FGT RDO=2,ARM=0,APV=0 } [ ADC for FGT RDO=2,ARM=0,APV=0 |

5 = 4000 p—
3 ] =
2 2 =
= 2
0 Q 3500 F=— 10
< < =
3000 P=—
2500 f=—
10° =
2000 = 10
=
1500 =
10 1000 =
=
=
500 = 1
=
0=
= i i i i i i
1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=1 } [ ADC for FGT RDO=2,ARM=0,APV=1 "}
4000
B! B = . . . . .
o = =
o o = ...]]..
8 8 3500 =
< < = 10°
RoL 3000 f=——---{]--
2500 f—---{{- -
=
2000 f=—+---{1--
10° =
1500 == - - - {{ - - W
=
1000 f=—---{{--
10 =
500 = ---11{--
=
o =Y !
¥ = . i . . . i . . . i . . . i . . . i .
0 1000 2000 3000 4000 0 2 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=2 } [ ADC for FGT RDO=2,ARM=0,APV=2 "}
- — = 4000 p=
3 g = . . . . . .
3 2 = 8 8 8 8 8 2
ol 9 3500 f=—
P g = 10?
3000 f=—
2500 f=—
107 =
2000 =
= 10
1500 f=——
10 1000 f=—
=
500 f=—
= 1
=
1 =
dritiitgijric =
1000 2000 3000 4000
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=3 }
= 4000 p—
] = . . .
& =
Q 3500 f=
< =
3000 = 107
2500 =
2000 f=
=
=
1500 f= 10
1000 p=
=
500 =
=
e
= 1
= 1
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=0,APV=4 } [ ADC for FGT RDO=2,ARM=0,APV=4 "}
L = 4000
3 ]
[ &
o 4}
& Q 3500
<
3000 10
2500
2
2 2000
1500 1
10 1000
500
0 10"
0 1000 2000 3000 4000 120
raw ADC APV channel



run_13040030 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Thu Feb 9 04:19:22 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13040030 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Thu Feb 9 04:19:56 2012

[CADC RMS for RDO=2,ARM=0,APV=0_ J
80

70 E

60

RMS (ADC-ped)

50 [
40 |
30
20

10

0

[ ADC RMS for RDO=2,ARM=0,APV=1 "}

RMS (ADC-ped)

60 == A R A e s T e LS s

[ ADC RMS for RDO=2,ARM=0,APV=2 "}

APV channel

RMS (ADC-ped)

o i i i i i
20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=0,APV=3 }
60 - e e L EEELEED e T T O EEEEEET

RMS (ADC-ped)

. o i i i i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

RMS (ADC-ped)

40

i
100

APV channel




run_13040030 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Thu Feb 9 04:14:55 2012

[ADC for FGT RDO=2,ARM=0,APV=5 }

éDOped

1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=6 }

gDOped

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=7 }

%DCAped

10?

3000 0
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=8 }

Agoped

10

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=9 l

-
°
[
Q
2o
10°

10

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
= 8 8 8 8 8 3
[ e A - e e
E_. . . i . . . . i
0 20 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
==
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

. 8 . . e

10°

10°

10°

10

10




run_13040030 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Thu Feb 9 04:19:23 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

-500

i i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

1500

1000

500

-500

PRTTTT [-m-r]-'-1-|-|-|-|-|-r1-[1-r

20 a0 0 a0 100 120
APV channel




run_13040030 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC

Thu Feb 9 04:19:57 2012

[CADC RMS for RDO=2,ARM=0,APV=5__}

90

B
=

80

RMS (ADC-ped)

70
60

50

40

30

20

10

0

[ ADC RMS for RDO=2,ARM=0,APV=6 }

i
120
APV channel

RMS (ADC-ped)

[CADC RMS for

1
120
APV channel

RMS (ADC-ped)

[CADC RMS for RDO=2,ARM=0,APV=8__}

APV channel

5 =
3 80 p=—
o =
a =
< I
(%] —
= =
3 60 f——
s0 F=H
=
« FH
= U

30

IHI]

20

10

=
0

0

[ ADC RMS for RDO=2,ARM=0,APV=9 "}

i
20 40 60 80 100 120
APV channel

00 B
80 |

70

RMS (ADC-ped)

60

50

40 =/

30

20

10

0

120
APV channel




run_13040030 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Thu Feb 9 04:15:18 2012

ADC for FGT RDO=2,ARM=0,APV=12

éDOped

[ 1000 2000

3000
raw ADC

[[_ADC for FGT RDO=2,ARM=0,APV=13

4000

-ped

Al
)

10

1000

2000

3000 40(
raw ADC

ADC for FGT RDO=2 ARM=0,APV=14
—

5
g
o
2

1000 2000

3000 40(

raw ADC
ADC for FGT RDO=2,ARM=0,APV=15
B
1
[
%]
%0
10
10

1000

2000

3000
raw ADC

ADC for FGT RDO=2,ARM=0,APV=16

énoped

4000

1000 2000

3000 40(
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=13 "}

= 4000 p—
] =
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500
<

3000

2500

2000

1500

1000

|r|1|[|1|r|1|r|]rr|1|rm[|1|r|1rr|

500

0

APV channel

i . e .

10

10°

10

10

10




run_13040030 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD

Thu Feb 9 04:19:24 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

i i
100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

20 40

APV channel

1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

120
APV channel

MPV (ADC-ped)

i i i i i i i
0Cko 20 0 100 120
APV channel
[ADC MPV for RDO=2,ARM=0,APV=15_}
o . 5
3 2 2
g : .
1) 2 2
8 . 8
< b b
> 2 2
z 2 .
= 0 0
i i i i i i i
<G 20 a0 ) 80 100 20
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=16 }

MPV (ADC-ped)

-500

100 120

APV channel

20 40




run_13040030 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
Thu Feb 9 04:19:58 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

RMS (ADC-ped)

400

i
120
APV channel

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

RMS (ADC-ped)

70

60

50

30

20

10

0

40

APV channel

[CADC RMS for RDO=2,ARM=0,APV=15__}

RMS (ADC-ped)

50 |

40

30

20

10

°TI11'|'HI1'|'I'H1'|'I'H1'|'I'f

APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

RMS (ADC-ped)

45

40

35

30

25

20 E

15

10

ikliiLL

fIIERAZENIERICH
:'LL.I.IJ
—

120
APV channel




run_13040030 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Thu Feb 9 04:15:40 2012

[ ADC for FGT RDO=2,ARM=0,APV=17 |

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=18 §

-
°
[
Q
ja}
<
10
10

10

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0.APV=19
—

ADC-ped

S

 Ei 4EHE g
1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=20

Agoped

1000 2000 3000 4000
raw ADC

[__ADC for FGT RDO=2,ARM=0,APV=21 }

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
o=
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
] =
5 =
8 3500 =~ -~ - olp=24
< =
3000 f=— - - - - - o|p=odegescecssscaes
=
2500 = - - - - - B R
=
2000 = - - - - - B T
=
1500 f=r— |- - - - - e
=
1000 = +{- - - - - R
=
500 = -
=
= e
= . . i . . . i
0 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=19 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
E
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=20 }
= 4000 p—
] = . .
g = 8 8
Q 3500 f=—| e
< =
3000 - === seleee
2500 [ P

2000

1500

1000

500

0

ADC for FGT RDO

=
=
=
i
=
=
=
—
=
=

0

20

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

i
60 80 100 120
APV channel

APV channel

... . d el e L h

10

10

10°

10

10




run_13040030 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
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run_13040030 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
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run_13040030 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Thu Feb 9 04:16:01 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2BC

2,asmb

ISC=

=2,Di

IN=

27 2012

b

ime
19

Thu Feb 9 04

0 1]

run_13040030_FGT_MPV_1,T

2,ARM=

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

1,APV
1,APV
1,APV:
1,APV

2,ARM
LARM:
2,ARM
LARM

2
2

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13040030 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13040030 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Thu Feb 9 04:19:27 2012
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run_13040030 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13040030 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
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run_13040030 FGT_RMS 1,Timebin=2,Disc=2,asmb=2CD
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run_13040030 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
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run_13040030 FGT_RMS 1,Timebin=2,Disc=2,asmb=2CD
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run_13040030 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
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